
Draw a pair of axes from –10 to 10 in both directions.

Plot these points and join them with a ruler as you go along.

Do each section separately.

A:
(2, -2), (2, -3), (0, -4), (-3, -5), (-2, -3), (-2, -4), (1, -3), (2, -2)

B:
(3, 1), (4, 1), (4, 0), (3, -1)

C:
(-1, 2), (-1, 1), (0, 1), (-1, 2)

D:
(-3, 1), (-2, 1), (-3, 2), (-3, 0)

E:
(8, -6), (5, -2), (5, 2), (6, 2), (4, 5), (5, 6), (3, 5), (3, 6), (2, 5), (1, 7), (1, 5), (-3, 4), (-5, 2), (-3, 3), (-4, 2), (-4, 1), (-3, 2), (-1, 3), (2, 3), (2, 2), (3, 3), (4, 2), (4, 3), (5, 2)

F:
(-1, 0), (-5, 0), (-6, -1), (-6, -2), (-5, -3), (-2, -3), (0, -2)

G:
(-3, -3), (-4, -4), (-4, -6), (-2, -8), (2, -8), (4, -6), (4, -4), (3, -3)

Now colour him in
